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Oéua 1°

A. Na AUoeTe TIG €€10WOEIC

i 2x(x+3) = x?
i. 3x*-75=0
iii. 18+2x*=10
15M
B. Na Avoete Tic €€ 10woeic
i X°+27x*=0
ii. X°-16x= 0
10M
Oéua 2°
A. Na AuBti n e€iowon : (2—x)2 —4|x—2|-5=0
8M
B. NaAuBti nefiowon: 2x*—7x*—4=0
7M
I". Na AuBsi n e€iowon : ‘xz —4x+2|=2
10M




Oéua 3°
2 f— p—
A. Na AuBsi n e€iowon : 2X 2+X L,yxt__2
X° =X 1-x X
10M
1Y 1
B. Na AuBti n e€iowon : [x+—j —3(x+—)+2:0
X X
15M
Oéua 4°
A. Na AuBti n e€iowon : 2x2 +(2—\/§)x—\/§=0
10M
B. Na AuBsi n e€iowofi: |x—2]:[x—3| = 3:|x—2|
15M

KoAn ercttoylo !
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